F£2E HFEFVIMNZ=ZATEKXE
IR23%F10A2H(A) X hFEFmEBFT=—Ra—rEBFHT=Xa—F

TF
A Jovy 1 2 3 4 [=Liva
1 AR (=) @ @ @ 1
2 |FE-ER (t=E) 0 1 2 4
3 |AFH-BE (BEBEF) 1 @ @ 2
4 |AITH -0k (EB3F) 0 @ 2 3
B JAvY 5 6 7 8 JIE 42
5 |#kEAK-XKZ (£F0) @ @ @ 1
6 |(=&-J)IA (t=E) 3 0 4
7 |AR-Kih (BEBEF) @ 1 3
8 |AH-WLUA (BEBEF) @ @ 2
e im @ @
Al ERE-1BAR () Bl EAK-K% (/M)
@ 2
B2 XH-LA (EBF) 3 . A2 & -BlE (EBF)
=2 B EEK E 31 E3L

HBE-EA (EM) | ERKR-XE (M) | FBE-WA  (EEHF) &#H-5HB (EBF)

BF2E
1 2 3 4 5 6 JIE 45z
1 WK (£=) @ @ @ @ @ 1
2 |HhF-Eih (£=) 1 @ @ 2 0 4
3 | KF-&& (EB3F) 0 0 2 0 0 6
4 |hngk-KfA (£=) 1 2 @ 3 0 5
5 |/ R (£t=) 0 @ @ @ 3 3
6 |FtL-85K t=) 0 @ @ @ @ 2
B B B FE 3L
mil-RKith (£F) | #HE-HK (£F) ING - KM (BE)




